
Division Pâques (C)Obtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/2545 24 6 56 2÷ 9 ÷ 8 ÷ 2 ÷ 8 ÷ 1
15 7 9 12 63÷ 5 ÷ 7 ÷ 3 ÷ 3 ÷ 7
42 30 18 42 7÷ 6 ÷ 5 ÷ 9 ÷ 7 ÷ 7
12 16 30 10 6÷ 3 ÷ 8 ÷ 6 ÷ 2 ÷ 3
30 12 40 9 12÷ 5 ÷ 6 ÷ 5 ÷ 1 ÷ 6
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Division Pâques (C) RéponsesObtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/2545 24 6 56 2÷ 9 ÷ 8 ÷ 2 ÷ 8 ÷ 15 3 3 7 2
15 7 9 12 63÷ 5 ÷ 7 ÷ 3 ÷ 3 ÷ 73 1 3 4 9
42 30 18 42 7÷ 6 ÷ 5 ÷ 9 ÷ 7 ÷ 77 6 2 6 1
12 16 30 10 6÷ 3 ÷ 8 ÷ 6 ÷ 2 ÷ 34 2 5 5 2
30 12 40 9 12÷ 5 ÷ 6 ÷ 5 ÷ 1 ÷ 66 2 8 9 2
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